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Given ARST

Find the sin£R = g

4
2 Findthecos 2T=__"¢

A

it 3 Find the tan «R = ’&3

£

10

&,

Find the sin 2 A = .
3
5. Findthecos 2 C = 2.

c ;}; 6. Findthetan 2C= ﬁg

P Jé' What do you know about the acute angles of a right

7 /3
J’ triangle? /My e MM

8.For each of the following triangles, find the sin and cos of the indicated angles.

=~

W2 [
SinA=_T SinL=_1

LE} L1
CosC=_722 cosN=_"7_

9.What do you notice about the sine and cosine of complementary angles of a right triangle? 9&*“-(-

What does this mean? 5“\(‘ d Co)'-‘v-’ of (0*‘/”"’{7"/ aiylﬂ QA (VMI

10. For what value of 9 is cos 9 = sin 40°? 90
11. For what value of 9 is cos 9 = sin 70°? 20
12. For what value of 9 is sin 9 = cos 25°? 9 s

Z
13. Find the sin 45°, ’1 Find the cos 20°. 0 ) q 3(,7
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14. AABC is aright triangle. One of the acute angles measures 36°. What is the cosine of the |

other acute angle? fm ;‘ ~ U, 5%73

15.ALMN is a right triangle. One of the acute angles measures 65°. What is the cosine of the

other acute angle? j,‘o\ 5; = 0- (}'06 }

Triangles with congruent angles are similar. Trig ratios deal with ratios of sides of similar
triangles.

16. In right triangle RST, R and T are complementary angles. he value of the sin R = 4/5. What

is the value of cos T? R E $ 7’
g :

17. The right triangle ABC, A and C are E‘O lementary angles. The value of the Cos A =1/3.
What is the sin C? ]

3

18. Inright triangle}(L, Kis the right angle and tan J = %, 3/{
Find the sin=__ 2 5 Cos J= f[ﬁ sinlL= '{[‘- cosl=

19. The shortest side of a 30-60-90 triangle measures 12. What is the measure of the longest

leg? 124[5 What is the length of the Jengesi-teg?
h PH(“‘.'G

20. A leg of a 45-45-90 triangle measures 7 feet. What is the measure of the hypotenuse?
'74/2
21. Ina 30-60-90 triangle, the hypoten:’l?;s 6 cm. What is the length of the shortest leg?
i

3 and-hypetentse? é 3
lengest 9

22. Solve the right triangle. Find all mii.\sing sides and angles. >4 3

.

AB = ZE m ZA = '{_g 59 3 ﬁ -»‘20 Sr4 4 20
m£C= q’ ‘" 1 T~ g .‘_5

B 15

24. Triangle RST is a right triangle. One of the acute angles has a sin 2. What is the cosine of

the same acute angle?

25. An 12 ft. ladder is leaningagainst a wall so that the base is 7 ft. from the base of the wall.
What angle does the ladder make with the ground? Round tgthe nearest i@t

n” j ) B < I?L dﬁ?ﬂ‘/’

7 ;
26. The area of a square is 81 square inches. Find the diagonal of the square.

% >




